

Bid Proposal Form

Contractor Name: New England Construction Franchisee Name/Site location: Narragansett RI

Division One

General Conditions

Description		Quantity	Per Unit		Unit total
General Conditions	EA	1.00	32325	\$	32,325.00
Taxes/Insurance	EA	1.00	7981	\$	7,981.00
Bonds/Permits	EA	0.00	0	By Owner	
Fees	EA	0.00	0%	By Owner	
Profit and Overhead	%		6%	\$	30,000.00
Supervision	WK	10	4,400	\$	44,000.00
Final Clean	EA	1	1,039	\$	1,039.00
Division Two Demolition / Site Work					
Description		Quantity	Per Unit		Unit total
Demolition	EA	<u> </u>	12,800	\$	12,800.00
Disposal of Debris	EA	1	4,250	\$	4,250.00
Equipment Rental	EA	0	0	0 Included	
Excavation and Dirt Removal	EA	0 0		Not a	Applicable
Temporary Toilets	EA	1	1,400	\$	1,400.00
Division Three					
Concrete		Quantity	Per Unit		Unit total
	SOFT	Quantity 0	Per Unit	Not 1	Unit total
Concrete Description	SQFT EA			Not I	Included
Concrete Description Concrete Slab		0	0		Included
Concrete Description Concrete Slab Rebar / Wire	EA	0 0	0	Inclu	Included ided 13,500.00
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete	EA LF	0 0 150	0 0 90	Inclu \$ Inclu	Included ided 13,500.00
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines	EA LF YDS	0 0 150	0 0 90	Inclu \$ Inclu	included ided 13,500.00 ided
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines Sidewalk Division Four	EA LF YDS	0 0 150	0 0 90	Inclu \$ Inclu	13,500.00 aded
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines Sidewalk Division Four Masonry	EA LF YDS	0 0 150 0	0 0 90 0	Inclusion Inclus	Included Ided I3,500.00 Ided Applicable
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines Sidewalk Division Four Masonry Description	EA LF YDS SQFT	0 0 150 0 0	0 90 0 0	Inclusion Inclus	Included ded 13,500.00 ded Applicable Unit total
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines Sidewalk Division Four Masonry Description Cut Openings / Install Lintel / Flashing Division Five Metals	EA LF YDS SQFT	0 0 150 0 0	0 90 0 0	Inclusion Inclus	Included Ided I3,500.00 Ided Applicable Unit total Applicable
Concrete Description Concrete Slab Rebar / Wire Cutting / Removal of Concrete Re-install Concrete for Drain Lines Sidewalk Division Four Masonry Description Cut Openings / Install Lintel / Flashing Division Five	EA LF YDS SQFT	0 0 150 0 0 0	0 90 0 0 0 Per Unit	Inclusion Inclus	Included ded 13,500.00 ded Applicable Unit total

^{*}This form is Required to be completed in it's entirety for the Bid to be Accepted with each item broken out as listed below*

Division Six

Wood and Plastics

Description		Quantity	Per Unit		Unit tota
3/4° Plywood Backing for Shelf Support	EA	1	1,537	\$	1,537.00
Division Seven Thermal and Moisture Protection					
Description		Quantity	Per Unit		Unit tota
Insulation of Walls	LF	0	0	Not	Included
Sound Proof Restrooms	EA	0	0	-	Included
Framing - perimeter/interior walls	LF	0	0	Inclu	ıded
Drywall for Interior Walls	LSUM	1	24,956	\$	24,956.00
Framing of Curved soffitt	SQFT	0	0	Inclu	ıded
Sheetrock, Tape, Spackle Perimeter Walls	SQFT	0	0	Inclu	ıded
Roof Penetrations and Flashing	EA	5	1,680	\$	8,400.00
Division Eight Doors and Windows					
Description Description		Quantity	Per Unit		Unit tota
Solid Core Wood Doors	EA	2	859	\$	1,718.43
Steel Doors	EA	0	0	Not.	Applicable
Installation of Doors	EA	2	350	\$	700.00
Knock-Down Metal Door Frames	EA	0	0	Inclu	ıded
Installation of Frames	EA	2	96	\$	192.00
Door Hardware & Installation	EA	0	0	Inclu	ıded
Bathroom Mirrors	EA	0	0	Inclu	ıded
Aluminum Windows	EA	0	0	Not.	Applicable
Hollow Metal Window Frames	EA	0	0	Not .	Applicable
Division Nine Finishes					
Description		Quantity	Per Unit		Unit tota
Front Make-Line Counter Walls	LSUM	1	61,630	\$	61,630.00
Front Make -Line Silestone Counter Tops	SQFT	0	0	\$	-
Front Make-line Shiplap on Lower Wall	SQFT	0	0	\$	-
Beverage Counter Base Cabients	LF	0	0	\$	-
Silestone Beverage Counter Top	SQFT	0	0	\$	-
Rear Millwork Galley Kitchen Base Cabients	LF	0	0	\$	-
Rear Millwork Galley Kitchen Silestone Top	SQFT	0	0	\$	-
Upper Wall Shiplap in Dinning Room	EA	0	0	\$	-
Rear Millwork Hot Sub Prep Base Cabients	LF	0	0	\$	-
Rear Millwork Hot Sub Prep Silestone Top	SQFT	0	0	\$	-
Backline Ceramic Wall Tile	SQFT	578	11	\$	6,600.76
	-		_	\$	
Lower Wall White Reclaimed Oak	SQFT	0	0	Ψ	
	_	<u>0</u> 81	9	\$	
Rolled Steel Metal Chair Rail	SQFT				750.06
Lower Wall White Reclaimed Oak Rolled Steel Metal Chair Rail Bathroom Wall Tile (48in Tall) Resilent Flooring (Protect-All)	SQFT LF	81	9	\$	750.06 4,751.04 20,800.07

Painting/Staining (walls, doors)	EA	1	4,728	\$	4,728.00	Includes installing wall mural $\&$ lettering
FRP	EA	1	10,033	\$	10,033.00	
Drop Ceilings	SQFT	1,483	4	\$	6,300.05	
Painting of Dinning Room Drop Ceiling or Open Ceiling	SQFT	0	0	Not 2	Applicable	
Division Ten						
Specialties		0	D 11.7		TT 2 1	
Description Hardware for Restrooms	Ε.Α.	Quantity	Per Unit	<i>c</i>	Unit total	
Installation of Hardware	EA		2,156	\$ 1	2,156.00	
	EA		0	Inclu		
Window Tint	EA	0	0		Applicable	
Fire Protection / Fire Caulking Division Eleven	EA			See d	ivision 13	
Equipment		Quantity	Dor I Init		Unit total	
Description Equipment Install	EA	Quantity 0	Per Unit	Not	Unit total Applicable	
Division Twelve	LA		0	NOL 2	Аррисавіе	
Furnishings						
Description		Quantity	Per Unit		Unit total	
Furniture / Artwork / Menu Board Installation	LSUM	l	5,760	\$	10,960.00	
	20011		3,100	4	10,3 00.00	
Division Thirteen Special Construction						
Description Description		Quantity	Per Unit		Unit total	
Sprinkler system (Modify Existing Heads)	EA	23	476	\$	10,948.00	
TV. Brackets (Only one allowed but not preferred)	EA	0	0		ncluded	
Sneeze Guard	EA	0	0	Not Included		
Install Baby Changing Stations in Restrooms	EA	0	0	Inclu	ded	
Fire Extinguishers (No Cabinet)	EA	3	240	\$	720.00	
Division Fourteen						
Mechanical and Plumbing Description		Quantity	Per Unit		Unit total	
HVAC with Duct work	LSUM	Quantity	71,000	\$	71,000.00	
Hood System (Install Only)	EA	0	0	Inclu		
Ansul / Fire Suppression System	EA	0	0	By O		
Fire Wrap Hood Exhaust System	EA	0	0	Inclu		
Gas Piping	EA	1	9,500	\$	9,500.00	
Air Balance Test	EA	0	9,500	Inclu		
Plumbing (Slab-Rough-Trim)	EA	1	28,465	\$	28,465.00	
Grease Interceptor w / Extension	EA	1	2,900	\$	2,900.00	
Grease interceptor w/ Extension		1	2,900		2,900.00	
Defrigeration if required with Demote Walk inc			10.750	¢	10.750.00	Includes install kitchen equipment
Refrigeration if required with Remote Walk-ins	LSUM	1	10,750	\$	10,750.00	Includes install kitchen equipment
Refrigeration if required with Remote Walk-ins Division Fifteen Electrical		1	10,750	\$	10,750.00	Includes install kitchen equipment
Division Fifteen		1 Quantity	10,750 Per Unit	\$	10,750.00 Unit total	Includes install kitchen equipment

Base Electrical	EA	1	38,515	\$ 38,515.00
Fire Alarm System	EA	1	3,025	\$ 3,025.00
Lighting Package	EA	1	7,025	\$ 7,025.00
Low Voltage/CAT 5/ Speaker Wire	EA	1	1,235	\$ 1,235.00
Tota	\mathbf{l}			512,188.50

The above mentioned total cost includes the Jersey Mike's plan review comments provided to me by the franchisee.

Contractor signature Date: 5/31/2024 revised 07/2013